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SSRG[10,3] sequence is used to spread a baseband signal with 100 ksym/s. The rate of the 

pn-sequence is 2 periods/symbol. The resulting spread signal is multiplied with a carrier with 

fc=4.d1d0 GHz where d1d0 is the last two digits of your student-id. For example, if the last two 

digits of your student id is 49 then fc=4.49. Find the bandwidth of the modulated signal. 

 

Put your calculations/results in the drawing canvas below. Do not change anything else 

except putting your name/id on top of the page. 

 

Solution: 
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Lseq=1023 

Rsymbol = 100000 symbol/s 

Rseq = 2 x 1023 x 100000 = 204600000 chips/s 

BWbaseband = 204.6 MHz 

BWpassband = 409.2 MHz 

 

Carrier frequency does not affect the bandwidth when fc >> BWbaseband 


